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Instructions ! 1)

ii)

iii)

All qucestions
compulsory.
[Nustrate your answerg
with  labelled diagramg
wherever necessary.
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Marks allotted to cachp
question  are  mentioneg
against it.
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1. Choose the correct option and write in

your answer-book :

A)

P7730

In an angiospermic plant stamens
are

i) female reproductive organ
ii) male reproductive organ
iii) both (i) and (ii)

iv)] none of these. .
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B)

C)

D)
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Who is the founder of law of

dominance and law of segregation ?

1) Darwin 1) Lamarck

iil) de Vries iv) Mendel. 1

Genetic engineering starts with the
discovery of which enzyme ?

i) Restriction endonuclease

i)  DNA ligase

i) DNA gyrase

iv) DNA polyvmerase. 1

Which one of the following is the

regular necessity of an ecosystem ?

i)  Water
i)  Wind
i) Enecrgy

iv)  None of these.
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Draw a labelled diagram of a

germinating pollen grain. Yo+ Va
What is menstruation cycle ? 1

Why a colourblind man is not

selected as a driver in railways 2 1

Write down the differences between

homology and analogy. 1

Why are leaves of opuntia modified

into thorns ? 1
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A) Write a note on greenhouse effect. 2

B) What do you understand by
antibiotic ? Write down the names
of any two antibiotics. 1+1

C) Differentiate between linkage and
crossing-over. 1+1
D) What is DNA fingerprint ? Describe

its application. 11

E) What is oxidation pond ? Describe
its importance. 1+1

P7730



@)

)

)

4. A

B)

C)

D)

P7730

7 348(FR)

SRS Ua Feraaniel &1 oI i |

1% + 1%
et w1 & 2 T &1 Al i % Ag T
399 g @ @iy | 1+1+1
Hg Ia® ﬁmwmﬁ%?m
aﬁa'iqéamaravhaﬁfmnnnl
;ﬂw%?v’ﬁmmﬁﬁémﬁﬁ
g2 1+1+1

Describe the commensalism and

mutualism. 1% + 1'%

What is vaccine ? Write the name

and usefulness of any two vaccines.

httpy/www.upboardonline.com 1+1+1

What do Yyou understand by

biofertilizers 2 Give its source and

usefulness. 1+1+1
at are drugs ? Name the source

Wh
s arc

from which smack and chara
obtained. 1]+ 1 +1
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5. A) What is immunity ? Explain the

mechanism of acquired immunity.
142

B) What is cross-pollination ? Describe
1ts merits and demerits. 1+]1+1

C) Describe the importance of micro

organisms in industrial production
with examples. 1%+ 1%

D) Describe the uses of bio-technolo
in agriculture., 5
3
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6. F) g HUSN] S AHiTehd o a930 | 7. Draw the diagram of oogenesis in human
3 and compare it with spermatogenesis.
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A) Draw a labelled diagram of an ovule

of an angiospermic plant. 3

B) What is genetic code ? How does it

work ? 1%+ 1%

C) Write a note on the importance of

animal breeding. 3

D) What do you mean by Bt ? Explain it
with example of Bt-cotton. 1%2+ 1%2

Describe the process of fertilization in
angiosperms with the help of suitable

diagram. 5
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:;Vhat _do ~You wunderstand by sex
etermination ? Explain it with the help

oFE H USRI WERdl H §red guiA o
A - ; % ~ lagram j
AT T I A T e B | gram in man. 144
OR
S What d
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wlobl inheritancy 9undeTSla"d by criss-cross
¢ 2 Write two €Xamples of

FIAT |
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1+2+2
9. Draw the diagram of a pond ecosystem
and describe the biotic and abiotic
factors of it. 2+3

OR

What is acid rain ? Describe the role of
industrial byproduct from used fuel in
causing atmospheric pollution and

Suggest some suitable measures for its

control. 1+2+2
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